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Glebe House, Reading Road, Wallingford, 
Oxfordshire, 2014

Archaeological Watching Brief
Figure 1. Location of site within Wallingford and Oxfordshire
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Glebe House, Reading Road, Wallingford, 
Oxfordshire, 2014

Archaeological Watching Brief
Figure 2. Detailed location of site off Reading Road.
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Figure 3. Location of observed areas.

Glebe House, Reading Road, 
Wallingford, Oxfordshire, 2014
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Figure 4. Sections.

Glebe House, Reading Road, 
Wallingford, Oxfordshire, 2014
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Plate 2. Trench 2 showing features 3-6, looking north, Scales 1m and 0.5m.

Plate 1. Arm of Grave 9, looking west, Scales: 0.5m and 0.1m.

GHW 13/70

Glebe House, Reading Road, Wallingford
Oxfordshire, 2014

Archaeological Watching Brief 
Plates 1 - 2.



Plate 4. Skull of Grave 10, looking west, Scale: 0.5m.

Plate 3. Skull of Grave 7, looking west, Scale: 0.5m.

GHW 13/70

Glebe House, Reading Road, Wallingford
Oxfordshire, 2014

Archaeological Watching Brief 
Plates 3 - 4.



TIME CHART

Calendar Years

Modern AD 1901

Victorian AD 1837

Post Medieval  AD 1500

Medieval AD 1066

Saxon AD 410

Roman AD 43
BC/AD

Iron Age 750 BC

Bronze Age: Late 1300 BC

Bronze Age: Middle 1700 BC

Bronze Age: Early 2100 BC

Neolithic: Late 3300 BC

Neolithic: Early 4300 BC

Mesolithic: Late 6000 BC

Mesolithic: Early 10000 BC

Palaeolithic: Upper 30000 BC

Palaeolithic: Middle 70000 BC

Palaeolithic: Lower 2,000,000 BC
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